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Teacher:

THE SCOTS COLLEGE

YEAR 11

MATHEMATICS ASSESSMENT

15™ March, 2004

Time allowed: 50 minutes

Instructions:

e Attempt all questions

e Show all necessary working

e Approved calculators maybe used
e Start each question on a new page

PART

OUTCOME

AVAILABLE
MARKS

MARKS GAINED

A

P3:performs routine arithmetic and
algebraic manipulation involving
surds,simple rational expressions and
trigonometric identities

conclusions which are appropriate to the
context

P4:chooses and applies appropriate 5
| arithmetic,algebraic,graphical,trigonometric \1
and geometric techniques
C P5:understands the concept of a function
and the relationship between and a graph
D P2:provides reasoning to support




PART A (START A NEW PAGE) 19 marks

1) Write the number 0.075827 in scientific notation correct to
a) 2 significant figures
b) 3 decimal places

2R-V

2) If P= Find Vwhen P =0.2and R=20

3) Simplify 2x (4x2+3x-1) = x (2x*+7x-3)

4) Solve |5x—-3] <2

Graph the solution on a number line

5) Express 2.136 as a common fraction

6) Express as a single fraction with a rational denominator

7) Solve

3(x=-2) =2(x~-1) -_2
5 3 5

8) Given x = +/2a and y= 3a’express 2x°y°in terms of a.

Simplify your answer as far as possible.
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PART B (START A NEW PAGE) 16 marks
1) Factorise
a) a’-a-42

b) 15a%-60

c) a’-64
8

d) m?*-mn+6m-6n

2) Simplify 4x’y-16xy
4x2—- 8x

3) Solve the simultaneous equations

-1

RN
]

X
5

*
|
W<
I
o

4) Simplify 2a°-3ab + 4a-6b
ab - b? 2a® - 2ab

5) Solve 2% +5x =6
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PART C (START A NEW PAGE) 16 marks

1) State the largest possible domain for these functions

a) f= _1___
2x-7
/1
3
b) f(x)= ——— + . /2
) 1) -4 x-5

2) Make sketches of the following. State the domain and range in each case.

a) y=4~ /3
3

b) y= — /3

)y x+2

3) Sketch the graph of f(x) = |2x—5| and indicate on it the values of x for
which f(x) =3 4

4) Indicate on a number plane the region in which

9< x2+y?*<25 /3




Part D (START A NEW PAGE) 15 marks

1) Use Pythagoras Theorem to find the value of x

xX+7

2) Each interior angle of a regular pofgv gon is 8 times the exterior angle.
How many sides has the polygon?

3) A point P is inside a square ABCD such that triangle DPC is equilateral.
Prove that:

i. A APD = A BPC

L AAPB is isosceles
4) A man, 1.6 metres tall, standing 3 metres from a street light casts a

shadow 2 metres long. How high is the light above the ground?

5) Find the value of ‘a’ and hence the size of ZBAC

B 100°  3a

END OF PAPER
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